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SUMMARY.

Land Grant Subsidy of 7,400 acres per mile for 100 
miles ............................................................. acres

Cash subsidy received from Dominion Government..

The Company would make the following expenditures :
Cost of constructing line and for equipment..............

Capital necessarily invested in mining, lumbering and 
development of resources to secure a remunera­
tive traffic for railway ..........................................

An additional population to make railway enterprise 
pay would be at least................. .................... .......

The value of product of the factories of Ontario, 1891, 
averaged $1,440.00, per employee, so that the 
value of 5,000 employees each year would be ...

This population would pay in custom dues to the 
Dominion Treasury annually ..............................

$150,000 is the interest on ..........................................

740,000 

$ 320,000

$ 2,500,000

$10,000,000

25,000

$ 7000,000

$ 130,000

$ 4,300,000
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